(all dues calculated effective September 1 of each year; first year dues will be prorated to August 31)

Category: Associate Core Member

4	employees x \$32.85	=	\$ 131.40	+	\$ 1,665.00 Base Fee	=	\$ 1,796.40	+	5% GST	=	\$ 1,886.22
5	employees x \$32.85	=	\$ 164.25	+	\$ 1,665.00 Base Fee	=	\$ 1,829.25	+	5% GST	=	\$ 1,920.71
6	employees x \$ 32.85	=	\$ 197.10	+	\$ 1,665.00 Base Fee	=	\$ 1,862.10	+	5% GST	=	\$ 1,955.21
7	employees x \$ 32.85	=	\$ 229.95	+	\$ 1,665.00 Base Fee	=	\$ 1,894.95	+	5% GST	=	\$ 1,989.70
8	employees x \$ 32.85	=	\$ 262.80	+	\$ 1,665.00 Base Fee	=	\$ 1,927.80	+	5% GST	=	\$ 2,024.19
9	employees x \$ 32.85	=	\$ 295.65	+	\$ 1,665.00 Base Fee	=	\$ 1,960.65	+	5% GST	=	\$ 2,058.68
10	employees x \$32.85	=	\$ 328.50	+	\$ 1,665.00 Base Fee	=	\$ 1,993.50	+	5% GST	=	\$ 2,093.18
11	employees x \$ 32.85	=	\$ 361.35	+	\$ 1,665.00 Base Fee	=	\$ 2,026.35	+	5% GST	=	\$ 2,127.67
12	employees x \$32.85	=	\$ 394.20	+	\$ 1,665.00 Base Fee	=	\$ 2,059.20	+	5% GST	=	\$ 2,162.16
13	employees x \$ 32.85	=	\$ 427.05	+	\$ 1,665.00 Base Fee	=	\$ 2,092.05	+	5% GST	=	\$ 2,196.65
14	employees x \$ 32.85	=	\$ 459.90	+	\$ 1,665.00 Base Fee	=	\$ 2,124.90	+	5% GST	=	\$ 2,231.15
15	employees x \$32.85	=	\$ 492.75	+	\$ 1,665.00 Base Fee	=	\$ 2,157.75	+	5% GST	=	\$ 2,265.64
16	employees x \$32.85	=	\$ 525.60	+	\$ 1,665.00 Base Fee	=	\$ 2,190.60	+	5% GST	=	\$ 2,300.13
17	employees x \$ 32.85	=	\$ 558.45	+	\$ 1,665.00 Base Fee	=	\$ 2,223.45	+	5% GST	=	\$ 2,334.62
18	employees x \$32.85	=	\$ 591.30	+	\$ 1,665.00 Base Fee	=	\$ 2,256.30	+	5% GST	=	\$ 2,369.12
19	employees x \$32.85	=	\$ 624.15	+	\$ 1,665.00 Base Fee	=	\$ 2,289.15	+	5% GST	=	\$ 2,403.61
20	employees x \$32.85	=	\$ 657.00	+	\$ 1,665.00 Base Fee	=	\$ 2,322.00	+	5% GST	=	\$ 2,438.10
21	employees x \$32.85	=	\$ 689.85	+	\$ 1,665.00 Base Fee	=	\$ 2,354.85	+	5% GST	=	\$ 2,472.59
22	employees x \$ 32.85	=	\$ 722.70	+	\$ 1,665.00 Base Fee	=	\$ 2,387.70	+	5% GST	=	\$ 2,507.09
23	employees x \$ 32.85	=	\$ 755.55	+	\$ 1,665.00 Base Fee	=	\$ 2,420.55	+	5% GST	=	\$ 2,541.58
24	employees x \$ 32.85	=	\$ 788.40	+	\$ 1,665.00 Base Fee	=	\$ 2,453.40	+	5% GST	=	\$ 2,576.07
25	employees x \$32.85	=	\$ 821.25	+	\$ 1,665.00 Base Fee	=	\$ 2,486.25	+	5% GST	=	\$ 2,610.56
26	employees x \$32.85	=	\$ 854.10	+	\$ 1,665.00 Base Fee	=	\$ 2,519.10	+	5% GST	=	\$ 2,645.06
27	employees x \$32.85	=	\$ 886.95	+	\$ 1,665.00 Base Fee	=	\$ 2,551.95	+	5% GST	=	\$ 2,679.55
28	employees x \$32.85	=	\$ 919.80	+	\$ 1,665.00 Base Fee	=	\$ 2,584.80	+	5% GST	=	\$ 2,714.04



(all dues calculated effective September 1 of each year; first year dues will be prorated to August 31)

Category: Associate Core Member

29	employees x \$32.85	=	\$ 952.65	+	\$ 1,665.00 Base Fee	=	\$ 2,617.65	+	5% GST	=	\$ 2,748.53
30	employees x \$ 32.85	=	\$ 985.50	+	\$ 1,665.00 Base Fee	=	\$ 2,650.50	+	5% GST	=	\$ 2,783.03
31	employees x \$ 32.85	=	\$ 1,018.35	+	\$ 1,665.00 Base Fee	=	\$ 2,683.35	+	5% GST	=	\$ 2,817.52
32	employees x \$ 32.85	=	\$ 1,051.20	+	\$ 1,665.00 Base Fee	=	\$ 2,716.20	+	5% GST	=	\$ 2,852.01
33	employees x \$ 32.85	=	\$ 1,084.05	+	\$ 1,665.00 Base Fee	=	\$ 2,749.05	+	5% GST	=	\$ 2,886.50
34	employees x \$ 32.85	=	\$ 1,116.90	+	\$ 1,665.00 Base Fee	=	\$ 2,781.90	+	5% GST	=	\$ 2,921.00
35	employees x \$ 32.85	=	\$ 1,149.75	+	\$ 1,665.00 Base Fee	=	\$ 2,814.75	+	5% GST	=	\$ 2,955.49
36	employees x \$ 32.85	=	\$ 1,182.60	+	\$ 1,665.00 Base Fee	=	\$ 2,847.60	+	5% GST	=	\$ 2,989.98
37	employees x \$ 32.85	=	\$ 1,215.45	+	\$ 1,665.00 Base Fee	=	\$ 2,880.45	+	5% GST	=	\$ 3,024.47
38	employees x \$ 32.85	=	\$ 1,248.30	+	\$ 1,665.00 Base Fee	=	\$ 2,913.30	+	5% GST	=	\$ 3,058.97
39	employees x \$ 32.85	=	\$ 1,281.15	+	\$ 1,665.00 Base Fee	=	\$ 2,946.15	+	5% GST	=	\$ 3,093.46
40	employees x \$32.85	=	\$ 1,314.00	+	\$ 1,665.00 Base Fee	=	\$ 2,979.00	+	5% GST	=	\$ 3,127.95
41	employees x \$ 32.85	=	\$ 1,346.85	+	\$ 1,665.00 Base Fee	=	\$ 3,011.85	+	5% GST	=	\$ 3,162.44
42	employees x \$ 32.85	=	\$ 1,379.70	+	\$ 1,665.00 Base Fee	=	\$ 3,044.70	+	5% GST	=	\$ 3,196.94
43	employees x \$32.85	=	\$ 1,412.55	+	\$ 1,665.00 Base Fee	=	\$ 3,077.55	+	5% GST	=	\$ 3,231.43
44	employees x \$32.85	=	\$ 1,445.40	+	\$ 1,665.00 Base Fee	=	\$ 3,110.40	+	5% GST	=	\$ 3,265.92
45	employees x \$ 32.85	=	\$ 1,478.25	+	\$ 1,665.00 Base Fee	=	\$ 3,143.25	+	5% GST	=	\$ 3,300.41
46	employees x \$ 32.85	=	\$ 1,511.10	+	\$ 1,665.00 Base Fee	=	\$ 3,176.10	+	5% GST	=	\$ 3,334.91
47	employees x \$32.85	=	\$ 1,543.95	+	\$ 1,665.00 Base Fee	=	\$ 3,208.95	+	5% GST	=	\$ 3,369.40
48	employees x \$ 32.85	=	\$ 1,576.80	+	\$ 1,665.00 Base Fee	=	\$ 3,241.80	+	5% GST	=	\$ 3,403.89
49	employees x \$ 32.85	=	\$ 1,609.65	+	\$ 1,665.00 Base Fee	=	\$ 3,274.65	+	5% GST	=	\$ 3,438.38
50	employees x \$ 32.85	=	\$ 1,642.50	+	\$ 1,665.00 Base Fee	=	\$ 3,307.50	+	5% GST	=	\$ 3,472.88
51	employees x \$32.85	=	\$ 1,675.35	+	\$ 1,665.00 Base Fee	=	\$ 3,340.35	+	5% GST	=	\$ 3,507.37
52	employees x \$32.85	=	\$ 1,708.20	+	\$ 1,665.00 Base Fee	=	\$ 3,373.20	+	5% GST	=	\$ 3,541.86
53	employees x \$32.85	=	\$ 1,741.05	+	\$ 1,665.00 Base Fee	=	\$ 3,406.05	+	5% GST	=	\$ 3,576.35



(all dues calculated effective September 1 of each year; first year dues will be prorated to August 31)

Category: Associate Core Member

54	employees x \$32.85	=	\$ 1,773.90	+	\$ 1,665.00 Base Fee	=	\$ 3,438.90	+	5% GST	=	\$ 3,610.85
55	employees x \$ 32.85	=	\$ 1,806.75	+	\$ 1,665.00 Base Fee	=	\$ 3,471.75	+	5% GST	=	\$ 3,645.34
56	employees x \$ 32.85	=	\$ 1,839.60	+	\$ 1,665.00 Base Fee	=	\$ 3,504.60	+	5% GST	=	\$ 3,679.83
57	employees x \$32.85	=	\$ 1,872.45	+	\$ 1,665.00 Base Fee	=	\$ 3,537.45	+	5% GST	=	\$ 3,714.32
58	employees x \$32.85	=	\$ 1,905.30	+	\$ 1,665.00 Base Fee	=	\$ 3,570.30	+	5% GST	=	\$ 3,748.82
59	employees x \$ 32.85	=	\$ 1,938.15	+	\$ 1,665.00 Base Fee	=	\$ 3,603.15	+	5% GST	=	\$ 3,783.31
60	employees x \$ 32.85	=	\$ 1,971.00	+	\$ 1,665.00 Base Fee	=	\$ 3,636.00	+	5% GST	=	\$ 3,817.80
61	employees x \$ 32.85	=	\$ 2,003.85	+	\$ 1,665.00 Base Fee	=	\$ 3,668.85	+	5% GST	=	\$ 3,852.29
62	employees x \$32.85	=	\$ 2,036.70	+	\$ 1,665.00 Base Fee	=	\$ 3,701.70	+	5% GST	=	\$ 3,886.79
63	employees x \$ 32.85	=	\$ 2,069.55	+	\$ 1,665.00 Base Fee	=	\$ 3,734.55	+	5% GST	=	\$ 3,921.28
64	employees x \$32.85	=	\$ 2,102.40	+	\$ 1,665.00 Base Fee	=	\$ 3,767.40	+	5% GST	=	\$ 3,955.77
65	employees x \$ 32.85	=	\$ 2,135.25	+	\$ 1,665.00 Base Fee	=	\$ 3,800.25	+	5% GST	=	\$ 3,990.26
66	employees x \$ 32.85	=	\$ 2,168.10	+	\$ 1,665.00 Base Fee	=	\$ 3,833.10	+	5% GST	=	\$ 4,024.76
67	employees x \$ 32.85	=	\$ 2,200.95	+	\$ 1,665.00 Base Fee	=	\$ 3,865.95	+	5% GST	=	\$ 4,059.25
68	employees x \$ 32.85	=	\$ 2,233.80	+	\$ 1,665.00 Base Fee	=	\$ 3,898.80	+	5% GST	=	\$ 4,093.74
69	employees x \$32.85	=	\$ 2,266.65	+	\$ 1,665.00 Base Fee	=	\$ 3,931.65	+	5% GST	=	\$ 4,128.23
70	employees x \$32.85	=	\$ 2,299.50	+	\$ 1,665.00 Base Fee	=	\$ 3,964.50	+	5% GST	=	\$ 4,162.73
71	employees x \$ 32.85	=	\$ 2,332.35	+	\$ 1,665.00 Base Fee	=	\$ 3,997.35	+	5% GST	=	\$ 4,197.22
72	employees x \$ 32.85	=	\$ 2,365.20	+	\$ 1,665.00 Base Fee	=	\$ 4,030.20	+	5% GST	=	\$ 4,231.71
73	employees x \$ 32.85	=	\$ 2,398.05	+	\$ 1,665.00 Base Fee	=	\$ 4,063.05	+	5% GST	=	\$ 4,266.20
74	employees x \$ 32.85	=	\$ 2,430.90	+	\$ 1,665.00 Base Fee	=	\$ 4,095.90	+	5% GST	=	\$ 4,300.70
75	employees x \$ 32.85	=	\$ 2,463.75	+	\$ 1,665.00 Base Fee	=	\$ 4,128.75	+	5% GST	=	\$ 4,335.19
76	employees x \$32.85	=	\$ 2,496.60	+	\$ 1,665.00 Base Fee	=	\$ 4,161.60	+	5% GST	=	\$ 4,369.68
77	employees x \$32.85	=	\$ 2,529.45	+	\$ 1,665.00 Base Fee	=	\$ 4,194.45	+	5% GST	=	\$ 4,404.17
78	employees x \$32.85	=	\$ 2,562.30	+	\$ 1,665.00 Base Fee	=	\$ 4,227.30	+	5% GST	=	\$ 4,438.67



(all dues calculated effective September 1 of each year; first year dues will be prorated to August 31)

Category: Associate Core Member

79	employees	x \$ 32.85	=	\$ 2,595.15	+	\$ 1,665.00 Base Fee	=	\$ 4,260.15	+	5% GST	=	\$ 4,473.16
80	employees	x \$ 32.85	=	\$ 2,628.00	+	\$ 1,665.00 Base Fee	=	\$ 4,293.00	+	5% GST	=	\$ 4,507.65
81	employees	x \$ 32.85	=	\$ 2,660.85	+	\$ 1,665.00 Base Fee	=	\$ 4,325.85	+	5% GST	=	\$ 4,542.14
82	employees	x \$ 32.85	=	\$ 2,693.70	+	\$ 1,665.00 Base Fee	=	\$ 4,358.70	+	5% GST	=	\$ 4,576.64
83	employees	x \$ 32.85	=	\$ 2,726.55	+	\$ 1,665.00 Base Fee	=	\$ 4,391.55	+	5% GST	=	\$ 4,611.13
84	employees	x \$ 32.85	=	\$ 2,759.40	+	\$ 1,665.00 Base Fee	=	\$ 4,424.40	+	5% GST	=	\$ 4,645.62
85	employees	x \$ 32.85	=	\$ 2,792.25	+	\$ 1,665.00 Base Fee	=	\$ 4,457.25	+	5% GST	=	\$ 4,680.11
86	employees	x \$ 32.85	=	\$ 2,825.10	+	\$ 1,665.00 Base Fee	=	\$ 4,490.10	+	5% GST	=	\$ 4,714.61
87	employees	x \$ 32.85	=	\$ 2,857.95	+	\$ 1,665.00 Base Fee	=	\$ 4,522.95	+	5% GST	=	\$ 4,749.10
88	employees	x \$ 32.85	=	\$ 2,890.80	+	\$ 1,665.00 Base Fee	=	\$ 4,555.80	+	5% GST	=	\$ 4,783.59
89	employees	x \$ 32.85	=	\$ 2,923.65	+	\$ 1,665.00 Base Fee	=	\$ 4,588.65	+	5% GST	=	\$ 4,818.08
90	employees	x \$ 32.85	=	\$ 2,956.50	+	\$ 1,665.00 Base Fee	=	\$ 4,621.50	+	5% GST	=	\$ 4,852.58
91	employees	x \$ 32.85	=	\$ 2,989.35	+	\$ 1,665.00 Base Fee	=	\$ 4,654.35	+	5% GST	=	\$ 4,887.07
92	employees	x \$ 32.85	=	\$ 3,022.20	+	\$ 1,665.00 Base Fee	=	\$ 4,687.20	+	5% GST	=	\$ 4,921.56
93	employees	x \$ 32.85	=	\$ 3,055.05	+	\$ 1,665.00 Base Fee	=	\$ 4,720.05	+	5% GST	=	\$ 4,956.05
94	employees	x \$ 32.85	=	\$ 3,087.90	+	\$ 1,665.00 Base Fee	=	\$ 4,752.90	+	5% GST	=	\$ 4,990.55
95	employees	x \$ 32.85	=	\$ 3,120.75	+	\$ 1,665.00 Base Fee	=	\$ 4,785.75	+	5% GST	=	\$ 5,025.04
96	employees	x \$ 32.85	=	\$ 3,153.60	+	\$ 1,665.00 Base Fee	=	\$ 4,818.60	+	5% GST	=	\$ 5,059.53
97	employees	x \$ 32.85	=	\$ 3,186.45	+	\$ 1,665.00 Base Fee	=	\$ 4,851.45	+	5% GST	=	\$ 5,094.02
98	employees	x \$ 32.85	=	\$ 3,219.30	+	\$ 1,665.00 Base Fee	=	\$ 4,884.30	+	5% GST	=	\$ 5,128.52
99	employees	x \$ 32.85	=	\$ 3,252.15	+	\$ 1,665.00 Base Fee	=	\$ 4,917.15	+	5% GST	=	\$ 5,163.01
100	employees	x \$ 32.85	=	\$ 3,285.00	+	\$ 1,665.00 Base Fee	=	\$ 4,950.00	+	5% GST	=	\$ 5,197.50

